XYZ,=97.45,100.0 , 95.98

1-69
1
8, =3[ (x=X) /) !
bz bylz/y
=1, b,y =04

X, = 0,110, B, = 0,900

— 2
Cogs=[A+B;]
6 OstwaldFarben (o)
von maximalem (m)C,g im
linearen Farbenraum (Cyg Y)g
Lichtar PS5, ¥,,<100 Y, =4 Ba @
Name BerechX, ¥, 2, % ¥, Ay A
R, 569_775 65.4 4264 398 0.5837'0.3806 567 490
V) 49477758228 94.94 9.62 04403 0.5081572 464
G, 494569 2087 56.4 9.57 02403 0.6493536 536

C, 380569 36.05 61.46 95.94 0.1863 0.3176 490 597 Parameter:
B, 3804941917 915 903 0.1616 0.0771464 572 Y & Name
M, 569_494 80.57 47.69 90.35 0.3685 02181536536 i
569
W,,380_775 97.45 100.0 95.98 0.3321 0.3407 100% Lichtart PS5
N, 380775389 40 383 0332103407 4% Y,,=100 Y, =4

7, 380_775 1754 180 1727 0.3321 0.3407 18%
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